
Multi Flat Bench (100095)



Washer:(φ10) Lock Nut:(M10) Washer:(φ8) Hex Bolt:(M8*65)

Hex Bolt:(M10*70) Hex Bolt:(M10*75)

Hex Bolt:(M10*175)

20X 10X 8X 8X

4X
4X

2X



1190
mm

600mm

48
0m
m-
11
70
mm

load 200KG
load 200KG

Maximum load 200KG



1

M1
0*
70

M1
0*
70

M1
0*
70

M1
0*
70

φ
10

φ
10

φ
10

φ
10

φ
10

φ
10

φ
10

φ
10

M1
0

M1
0

M1
0

M1
0

Hex Bolt(M10*70)-4PCS

Washer(M10)-8PCS Lock Nut(M10)-4PCS



2

Hex Bolt(M10*75)-2PCS

Washer(M10)-4PCS Lock Nut(M10)-2PCS

M10

M10 φ10 φ10

φ10 φ10 M10*75

M10*75



3
Hex Bolt(M10*75)-2PCS

Washer(M10)-8PCS Lock Nut(M10)-4PCS

Hex Bolt(M10*175)-2PCS

①
②

③
④

⑤
⑥

⑦

①

②

③

④

⑤

⑥⑦

M10φ10
φ10

φ10

φ10

φ10

φ10

φ10
φ10M10

M10 M10

M10*75

M10*175

M10*175

M10*75



4

Hex Bolt(M8*65)-8PCS

Washer(M8)-8PCS

φ8
φ8

M8*65
M8*65

M8*65
M8*65

M8*65
M8*65

M8*65M8*65

φ8
φ8

φ8
φ8 φ8

φ8


